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PF02 

CHARTERED INSURANCE INSTITUTE OF NIGERIA 

POST AIIN - FOUNDATION 

2025 APRIL EXAMINATION 

   

   

 

All answers should be shaded on the answer form in accordance with the 

following instructions: 

• Two hours are allowed for this paper.  

• Fill in the information requested on the answer form and attendance 
form.  
 

• Handle the answer form with care and do not write notes on it.   

• No marks are deducted for incorrect answers, so do not leave any 

questions unanswered. 

• The answer form should be handed over personally by you to the 

invigilator before you leave the Examination Hall.   

• Insert your candidate’s number as given on your admission permit 

and any other particulars required on the answer form. 

• Ensure that you write the full and correct candidate’s number. 

• If you bring a calculator into the examination room, it must be silent 

battery or solar powered non-programmable calculator.  The use of 

programmable calculator is prohibited. 

• No name should be written on the answer form.  

FAILURE TO ADHERE TO INSTRUCTIONS (WRITTEN AND 

VERBAL) WILL ATTRACT STATED SANCTIONS AS STATED IN 

THE APRIL 2025 DIET CANDIDATES’ INSTRUCTIONS. 

SUBJECT – PF02 

PF02 – LOSS ADJUSTING PRACTICE (FOUNDATION) 
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CHARTERED INSURANCE INSTITUTE OF NIGERIA 
 

 

PF02 - FOUNDATION 

LOSS ADJUSTING PRACTICE (FOUNDATION) 

 

INSTRUCTIONS TO CANDIDATES 

 

READ THE INSTRUCTIONS BELOW BEFORE ANSWERING ANY QUESTIONS 

 
Section A  
The questions 1 – 60 in this paper are numbered and four options follow each question. 
The options are labeled a, b, c, d. Only one of these options is correct. Select your 
answer for each question and indicate it on the answer form by filling in the 
appropriate box. 
 
Example:  
The major role of a Loss Adjuster in claims processing is to … 
(a) pay the claim      (b) interpret the policy  
(c) advice on the admissible claims and quantum (d) collate claims estimate. 
 
The correct option is (c).  
 
 
Section B   
Questions 61 – 85 are to be answered as either True (T) or False (F). Select your chosen 
option and indicate it on the answer form by filling in the appropriate box.  
Example:  
The Insurance market consists of different categories of intermediaries.  
The correct option is True (T).  
 
 
Section C  
Questions 86 – 100. This section contains three (3) case studies each followed by some 
questions. The case studies are not numbered and appear at the top of the page. Each 
of the questions following a case study is numbered. Four options follow each 
question. The options are labelled, a, b, c, d. Only one of these options is correct or 
best. Select your answer for each question and indicate it on the answer from by filling 
in the appropriate box.  



Page 5 of 17 
 

SECTION A - ATTEMPT ALL QUESTIONS (Questions 1 – 60) 

1. The following are some insurance intermediaries authorised by NAICOM to conduct 

insurance business in Nigeria, except … 

 (a) loss adjusters    (b) brokers   

(c) NIA     (d)  none of the above 

 

2. The law that required the registration of loss adjusters before their operations was the 

Insurance Decree of … 

 (a) 1975  (b)  1977   (c)  1978    (d) 2003   

 

3. The Institute of Loss Adjusters of Nigeria was established in which year? 

(a) 1979  (b)  1980  (c) 1981   (d) 1984   

 

4. Insurer is responsible for payment of remuneration of Loss Adjusters, nevertheless, they 

are expected to be … 

(a) loyal to the insurer   (b)  fair to the Insurer  

(c)  impartial     (d)  all of the above 

 

5. The loss adjuster, as an agent, owes a legal duty of care to…  

(a) the policyholder    (b)  their principal   

(c)  NIA      (d) public 

 

6. Insurance companies have competent staff members in their claims departments; 

however, they engage Loss Adjusters for large and complex claims because the 

assessment requires … 

(a) interdisciplinary skills  (b)  special skills  

(c)  technical skills   (d)  financial skills  

 

7. Although Loss Adjusters are appointed by insurers, the ethics of their profession and 

extant law demand that they are unbiased and … in their judgement. 

(a) careful  (b)  open   (c)  independent (d)  friendly  

 

8. It is more cost-effective to engage the services of a loss adjuster than having an insurer 

handle claim investigation and adjustment. This is because loss adjusters possess the 

following except … 

(a)  laboratory     (b)  technical expertise  

(c) manpower     (d)  all of the above.  

 

9. The mission statement of ILAN is, among other objectives, to provide the following, 

except… 

(a) transparent adjustment   (b)  fair adjustment  

(c)  submitting writ of summons   (d)  all of the above. 
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10. Part of the requirements for registering a loss adjusting firm with the National Insurance 

Commission is a Professional Indemnity cover of not less than… 

(a) N10,000,000.00   (b)  N15,000,000.00  

(c)  N20,000,000.00   (d)  N25,000,000.00 

 

11. A business plan is one of the requirements for registering a loss adjusting firm with the 

National Insurance Commission. This is required to cover … year(s).  

(a) 1   (b) 2   (c)  4   (d)  5  

 

12. The requirements for the renewal of a loss adjusting license include evidence that the 

CEO is a current member …  

(a) CIFM   (b)  NIA  (c)  ILAN   (d) none of the above 

 

13. A loss adjuster issues a preliminary report to the insurer, which includes basic information 

about the insured, the circumstances of the loss, any physical hazards observed at the loss 

scene, and recommendations for … 

(a) repudiation     (b)  discharge voucher  

(c) a loss reserve     (d) all of the above 

 

14. The final report will include, but not be limited to, all details of the claim listed below, 

except…  

(a) executed discharge voucher  (b)  findings on liability  

(c)  adjustment/summary of findings (d)  recommendation for settlement 

 

15. Once the insurers are satisfied with the loss adjuster's report, they will issue an instruction 

to the loss adjuster to issue a …. to the insured.  

(a) discharge voucher for signing  (b)  query on documentation  

(c)  notice of arbitration    (d)  none of the above 

 

16. Negotiation skills are qualities that enable two or more sides to reach a compromise. 

These are often soft skills, such as the ones stated below, except … 

(a) corporation     (b)  communication   

(c)  persuasion     (d)  strategising  

 

17. Section … of the Marine Insurance Act 1906 defines a material fact.  

(a) 18(1)   (b)  18(2)   (c)  18(4)   (d)  18(6)  

 

18. Any circumstance that would influence the judgment of a prudent insurer in 

determining the premium or deciding whether to accept the risk is considered 

material. … is not a material fact that the insured must disclose.  

(a) Identity of the Insured         (b)       Description of the subject matter  

(c)  Location of subject matter  (d)  Credit rating of the Country 
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19. Section … of the Insurance Act 2003 limits the insured's duty of disclosure to the 

questions asked on the proposal form.  

(a) 54 (1)  (b)  55 (1)   (c)  56 (1)   (d)  57 (1) 

 

20. Section … of the Insurance Act 2003 permits insurers or loss adjusters to repudiate 

liability when a breach of a term or warranty constitutes fraud.  

(a) 54 (2)   (b)  55 (2)   (c)  56 (2)    (d)  57 (2) 

 

21. The disclosure to the insurer by the insured must be made in a clear and accessible 

manner, and material representations of facts must be …  

(a) conclusive     (b) qualitative   

(c)  substantially correct    (d)  quantitative 

 

22. Apart from fraud, under the Insurance Act, an insurer will only be entitled to avoid a 

policy entirely if the breach of the duty of fair presentation is … 

(a) deliberate     (b)  reckless   

(c) deliberate or reckless    (d)  all of the above 

 

23. As per NAICOM’s Market Conduct Business Practices Guidelines on Claims Procedure, 

it is expected that claims settlement procedures are clearly defined and appropriately 

communicated to the insured by the … 

(a) loss adjuster    (b) surveyors   

(c)  insurer     (d)  NIA 

 

24. Loss adjusters are paid by insurance companies. However, the circumstances of losses 

and the growing need for increased consumer protection have led to the emergence of a 

branch of loss adjusting appointed by policyholders, known as the … 

(a) loss advocate     (b) loss assessor  

(c)  loss surveyor     (d)  private investigator 
 

25. The purpose of the Claims Control Clause is to give the reinsurer control over the 

investigation and settlement of claims. This clause is commonly used in … 

(a) local insurance    (b) foreign insurance  

(c)  facultative reinsurance   (d)  treaty reinsurance 

  

26. Alternative Dispute Resolution (ADR) in which an independent third party intervenes to 

help the insured and insurer reach a mutually acceptable outcome is called … 

(a) arbitration     (b)  out of court settlement  

(c)  mediation     (d)  reconciliation 
 

27. Alternative Dispute Resolution (ADR) in which a neutral, independent party listens to 

arguments from both the insurer and the insured, gathers evidence, and makes a decision 

on the dispute, similar to a court ruling, is called … 

(a) arbitration     (b)  out of court settlement  

(c)  mediation     (d)  reconciliation 
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28. Nominated Loss Adjuster clause found in some policies has several disadvantages, as 

listed below, except … 

(a) stifles competition    (b)  compromise integrity  

(c)  unconscious bias    (d)  none of the above 

 

29. Insurable interest is defined as the financial interest of the insured in the subject matter 

of insurance. The following must have an insurable interest in the subject matter of 

insurance, except …  

(a) policyholder     (b) named insured  

(c)  the regulator     (d)  additional insured 

 

30. The insurance contract is not always one of strict indemnity in every case, considering 

the following, except ...  

(a) agreed value     (b)  life assurance  

(c)  term assurance    (d)  comprehensive motor insurance 

 

31. Proximate cause can be any of the following except … 

(a) remote cause    (b)  active cause  

(c)   dominant cause    (d) efficient cause 

  

32. For the proximate cause to be regarded as the cause of the loss, there must be an unbroken 

connection between it and the actual loss. Therefore, causation is not a chain but a ... 

(a) remote     (b) net    

(c)  pecuniary     (d)  none of the above 

 

33. A loss may result from two (or more) proximate causes, one covered by the policy and 

the other either not mentioned or explicitly excluded. If the losses cannot be separated, 

the loss adjusters will advise the insurer to... 

(a) repudiate in total   (b) avoid the claim  

(c)  partially settle the claim  (d)  fully settle the claim 

 

34. The operative clause of an insurance policy is its most important clause as it defines what 

is ... 

(a) covered by the policy    (b) exclusions of the policy  

(c)  exceptions of the policy   (d)  deductible 

 

35. Policy documents contain exceptions, outlining the risks that are not covered. These 

exceptions can typically be found under the following headings, except ... 

(a) specific exceptions    (b)  public exceptions  

(c)  general exceptions    (d)  none of the above 
 

36. In some instances, insurers may offer covers that are broader than those specified in the 

operative clause. This is done through a(n) ... 

(a) extensions     (b)  additional Insured   

(c) Named Insured    (d)  exclusions 
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37. The basic test for reasonableness is that the insurer can only deny liability under such 

conditions if an investigation confirms that the insured acted willfully or blatantly, 

disregarding all warnings brought to their attention from any source, and acted ... 

(a) carefully    (d)  willfully   

(c)  cautiously    (d) all of the above.  

 

38. The principle of indemnity is, therefore, closely related to the principle of insurable 

interest. The exception to this rule is ... 

(a) burglary insurance    (b) fire insurance  

(c)  money insurance    (d)  marine insurance 

 

39. With reference to Sadler's Co. v. Badcock, the insured must prove that they had an 

insurable interest in the subject of insurance at the time of …  

(a) inception of the cover   (b)  loss   

(c)  adjustment of claim    (d)  all of the above 
 

40. The duty of disclosure of any material alteration in the risk which comes to the notice of 

the Insured ends … 

(a) on payment of premium due   (b)  on activation of cover  

(c)  at any time up to the conclusion of a contract  (d)  on reporting a loss 

 

41. Considering access to the facts surrounding the subject matter of insurance, as a general 

rule, who is bound to declare all facts that are material to the risk? 

(a) insured’s placement brokers   (b)  insured’s management  

(c)  insured’s insurance manager   (d)  all of the above  
 

42. Subrogation is the process by which the insurer assumes the legal rights of the insured 

after reimbursing them for losses, provided that ... 

 (a) the other party is liable for damage  

 (b)  there is waiver of subrogation of the policy 

 (c) the damage is natural occurrence (d) all of the above 
 

43. Contribution can arise in any of the following situations, except … 

(a) market agreement    (b)  common interest  

(c)  mutually inclusive    (d)  rateable proportion 
 

44. NAICOM's regulatory role in ensuring that loss adjusting firms are financially sound is 

under … 

(a) conduct of business   (b)  authorisation  

(c)  criminal offense    (d)  public censure 

  

45. NAICOM's regulatory role in ensuring the relationship of loss adjusting firms with the 

industry and the public is under … 

(a) conduct of business   (b)  authorisation  

(c)  criminal offense    (d)  public censure 
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Use the Loss Adjusters scale of fees to answer questions 46 – 60 below: 

Loss Adjusters Scale of Fees   

As agreed, to by Representatives of the Nigerian Insurers Association. 

Minimum fee N1,500.00 

 

Up To N50,000 12.50% N6,250 N6,250 

N50,0001 N100,000 10.00% N5,000 N11,250 

N100,001 N250,000 8.00% N12,000 N23,250 

N250,001 N500,000 6.00% N15,000 N33,250 

N500,001 N1,000,000 5.00% N25,000 N63,250 

N1,000,001 N1,500,000 4.00% N30,000 N83,250 

N1,500,001 N2,000,000 3.00% N15,000 N98,250 

N2,000,001 N5,000,000 2.00% N60,000 N158,750 

N5,000,001 N7,500,000 1.50% N37,500 N185,750 

N7,500,001 N10,000,000 1.00% N25,000 N220,750 

N10,000,001 N15,000,000 0.75% N37,000 N258,250 

N15,000,001 N20,000,000 0.50% N25,000 N283,250 
 

46. With a gross settlement of N85,000.00 and reimbursement expenses of N60,000.00, what 

is the total fee payable to the Loss Adjusters by the Insurer using the Loss Adjusters' 

scale of fees? 

 (a) N48,750.00  (b)  N68,750.00  (c)   N69,750.00  (d) N78,750.00 
 

47. With a gross settlement of N150,000.00 and reimbursement expenses of N100,000.00, 

what is the total fee payable to the Loss Adjusters by the Insurer using the Loss Adjusters' 

scale of fees? 

 (a) N48,750.00 (b)  N68,750.00  (c)   N78,750.00 (d)  N115,250.00  
 

48. With a gross settlement of N550,000.00 and reimbursement expenses of N150,000.00, 

what is the total fee payable to the Loss Adjusters by the Insurer using the Loss Adjusters' 

scale of fees? 

(a)  N148,750.00  (b) N173,250.00  (c)  N178,750.00  (d)  N185,750.00  
  

49. With a gross settlement of N850,000.00 and reimbursement expenses of N500,000.00, 

what is the total fee payable to the Loss Adjusters by the Insurer using the Loss Adjusters' 

scale of fees? 

 (a) N248,750.00 (b)  N268,750.00  (c)  N279,250.00 (d) N550,750.00 

 

50. With a gross settlement of N1,450,000.00 and reimbursement expenses of N450,000.00, 

what is the total fee payable to the Loss Adjusters by the Insurer using the Loss Adjusters' 

scale of fees? 

 (a)  N348,750.00 (b)  N368,750.00 (c)  N378,750.00 (d)  N531,250.00 

 

51. With a gross settlement of N4,000,000.00 and reimbursement expenses of N350,000.00, 

what is the total fee payable to the Loss Adjusters by the Insurer using the Loss Adjusters’ 

scale of fees? 

 (a) N448,750.00 (b)  N478,750.00  (c)  N485,750.00  (d) N488,250.00 
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52. With a gross settlement of N1,650,000.00 and reimbursement expenses of N150,000.00, 

what is the total fee payable to the Loss Adjusters by the Insurer using the Loss Adjusters 

scale of fees? 

 (a)  N590,750.00  (b)  N568,750.00  (c)  N`548,750.00 (d) N237,750.00 

 

53. With a gross settlement of N2,500,000.00 and reimbursement expenses of N350,000.00, 

what is the total fee payable to the Loss Adjusters by the Insurer using the Loss Adjusters' 

scale of fees? 

 (a)  N458,250.00  (b) N748,750.00 (c)  N768,750.00 (d)   N778,750.00 

 

54. With a gross settlement of N8,500,000.00 and reimbursement expenses of N550,000.00, 

what is the total fee payable to the Loss Adjusters by the Insurer using Loss Adjusters 

scale of fees? 

 (a)  N745,750.00 (b)  N858,250.00 (c)  N868,750.00   (d) N878,750.00 

 

55. With a gross settlement of N9,000,000.00 and reimbursement expenses of N850,000.00, 

what is the total fee payable to the Loss Adjusters by the Insurer using Loss Adjusters 

scale of fees? 

 (a)  N48,750.00 (b)  N68,750.00  (c)  N988,250.00 (d)  N1,050,750.00 

 

56. With a gross settlement of N6,000,000.00 and reimbursement expenses of N100,000.00, 

what is the total fee payable to the Loss Adjusters by the Insurer using the Loss Adjusters’ 

scale of fees? 

 (a)  N273,750.00 (b)  N648,750.00 (c)  N668,750.00 (d) N678,750.00 

 

57. With a gross settlement of N17,500,000.00 and reimbursement expenses of N200,000.00, 

what is the total fee payable to the Loss Adjusters by the Insurer using the Loss Adjusters’ 

scale of fees? 

 (a)  N248,750.00 (b)  N278,750.00  (c)  N285,750.00 (d)   N470,750.00 

 

58. With a gross settlement of N19,000,000.00 and reimbursement expenses of 

N1,500,000.00, what is the total fee payable to the Loss Adjusters by the Insurer using 

the Loss Adjusters’ scale of fees? 

 (a)  N648,750.00 (b) N685,750.00 (c) N1,778,250.00  (d) N1,778,750.00 

 

59. With a gross settlement of N14,000,000.00 and reimbursement expenses of N200,000.00, 

what is the total fee payable to the Loss Adjusters by the Insurer using the Loss Adjusters’ 

scale of fees? 

 (a) N428,250.00 (b)  N448,750.00     (c)  N450,750.00 (d) N778,250.00 

 

60. The current scale of fees agreed upon with the NIA and ILAN was in Year … 

(a) 1990 (b)  1991   (c)  1992   (d)  none of the above 
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SECTION B – ATTEMPT ALL QUESTIONS (Questions from 61 to 85)  

Answer True (T) or False (F).   

 

61. Subrogation means that after an insurer has paid a claim under an insurance contract, 

the insurer has the right to "step into the shoes" of the insured and seek recovery from 

the Policyholder.  

62. Adjuster fees are charged after applying average and excess.  

63. One of the requirements for registration as a Loss Adjuster is having a valid Professional 

Indemnity cover of at least N5,000,000.00. 

64. Any principle of insurance that is not explicitly stated in the policy document will not be 

considered by the loss adjusters when assessing a reported claim, in order to remain 

transparent and fair to all parties.  

65. Apart from fraud, as stipulated by Insurance Act 2003, an insurer will not be entitled to 

entirely avoid a policy if the breach of the duty of fair presentation is considered 

'deliberate or reckless.' 

66. A breach of warranty no longer automatically terminates the contract; instead, the 

insurer’s liability will be suspended from the time of the breach until the breach is 

remedied.  

67. Upon receiving an appointment from the insurer to adjust a claim, the loss adjuster is 

expected to submit a final report within a reasonable period, enabling the insurer to 

determine the reserve. 

68. A Fellow and a former President of ILAN, Mr. Darlington Mgbojikwe,, was elected the 

President of IFAA in 2010. 

69. While loss adjusters are remunerated by the insurer, the policyholder is responsible for 

covering the loss assessor’s fees.  

70. The purpose of the Claims Control Clause is to grant the reinsurer control over the 

investigation and settlement of claims. It is commonly included in treaty reinsurance 

agreements.  

71. If arbitration is activated to resolve a dispute between the insurer and the insured, a 

neutral independent party, known as an arbitrator, listens to arguments from both sides, 

gathers evidence, and then decides on the outcome of the dispute. This decision, similar 

to a court ruling, is binding on both parties with no possibility of variation.  

72. If mediation is activated to resolve a dispute between the insurer and the insured, the 

mediator is tasked with determining who is at fault and allocating liability accordingly.  

73. Some ILAN members believe that the inclusion of a Nominated Loss Adjuster Clause in 

certain policies will promote healthy competition among members.  

74. For an interest to be insurable, it must be a pecuniary one. A father does not have an 

insurable interest in the life of his son, but if the father depends on the son for his 

livelihood, that dependence constitutes an insurable interest. 
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75. To determine the validity of insurable interest, the insured must have a legal relationship 

to the subject matter of the insurance, such that they would benefit from the preservation 

of the property or suffer a loss from its destruction, damage, or loss.  

76. Proximate Cause was defined in the landmark case of Pawsey v. Scottish Union and 

National (1807) as "the active, efficient cause that sets in motion a chain of events, 

leading to a result, without the intervention of any force that originates and works actively 

from a new and independent source." 

77. For the proximate cause to be considered the cause of the loss under the policy terms and 

conditions, the chain of causes must be broken between the proximate cause and the 

actual loss. 

78. For concurrent causes, a loss may result from two or more proximate causes, one of which 

is covered under the policy and the other either not mentioned or expressly excluded. In 

the former case, if the losses cannot be separated, the insurer may repudiate the entire 

claim. 

79. The operative clause of an insurance policy is likely its most important clause, as it 

defines what is excluded by the policy. 

80. The insurer has no greater rights than the insured and can only take actions against a 

person that the policyholder could have pursued.  

81. When two or more policies cover the same risk but none provides full indemnity to the 

claimant, the insured may recover from multiple insurers, allowing the total of the claims 

to cover the loss.  

82. If NAICOM determines that a firm has failed to meet a requirement under the Insurance 

Act 2003, it may issue a public statement of misconduct against the firm. However, public 

censure, as an enforcement or disciplinary action against any erring firm, is the same as 

a financial penalty.  

83. NAICOM, as part of its regulatory actions against an erring firm, does have the power to 

prosecute in a court of competent jurisdiction for offenses such as carrying on a regulated 

activity without authorisation or misleading the regulator.  

84. A Loss Adjuster may participate in any benefit from the sale of salvage for which they 

have adjusted or are adjusting the loss.  

85. Any person who transacts business as a loss adjuster without being properly registered 

commits an offence and is liable, upon conviction, to a fine of N500,000.  

 

SECTION C – ATTEMPT ALL QUESTIONS (Questions 86 – 100) 

Read the cases below carefully and answer the questions which follow.  

A fire broke out at Ade’s premises, which was covered by a Fire and Special Perils policy with 

LKY Insurance Company for the period from April 1, 2023, to April 1, 2024. The policy had 

a total sum insured of N20,000,000.00, allocated as N12,000,000.00 for the building and 

N8,000,000.00 for the contents. Before the Fire Service arrived to extinguish the blaze, Ade’s 

neighbour and other individuals helped move the building’s contents to a nearby location for 

safety while attempting to control the fire. The fire was caused by an electrical spark from one 

of the two air conditioners in Ade’s sitting room, each valued at N250,000.00. 
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Fortunately, the fire did not spread to the kitchen, and the kitchen items, including a freezer 

valued at N300,000.00, were not directly damaged. However, to salvage all items before the 

fire could spread further, all kitchen items, including a mobile generator valued at 

N500,000.00, were relocated to the nearby premises. 

 

After the fire was extinguished, a physical verification of the items revealed that the freezer 

and mobile generator were missing. Attempts to locate these items were unsuccessful. The 

investigation did not uncover any circumstances surrounding the disappearance of the 

generator and freezer, other than the fact that they were part of the items salvaged before the 

fire was put out. 

 

It was confirmed that N4,000,000.00 is required to repair the building, including fittings and 

fixtures (with the air conditioners considered part of the building for the sum insured), and 

N2,000,000.00 for the contents damaged by the fire, which includes the missing items. 

Standard fire policy terms and conditions apply. 

 

Ade did not have a theft or burglary policy for the contents; only the active fire and special 

perils insurance was in place at the time of the damage. 

 

86. How much is the Insurer’s liability with respect to fire damage to the building? 

(a)  N3,500,000.00     (b)  N3,750,000 (c)   N4,000,000   (d)  None of the above 

 

87. How much is the Insurer’s liability with respect to contents? 

(a)  N1,500,000 (b)  N1,800,000 (c)  N2,000,000 (d) N2,500,000 

 

88. How much is the Insurer’s liability for the total claim?  

(a)  N6,000,000  (b)  N5,750,000  (c)  N4,000,000  (d) N2,000,000 

 

89. How much is the Insurer’s liability for the total claim, assuming an excess of N500,000 

or 10% whichever is higher?  

(a)  N6,000,000 (b) N5,175,000 (c)  N4,000,000 (d)N2,000,000  

 

90. How much is the Insurer’s liability for the total claim, assuming liability for missing 

items is excluded? 

  (a)  N5.175,000 (b)  N5,200,000 (c)  N5,750,000  (d) N6,000,000 

 

A cashier at ABC Bank was suspected of fraud involving cash stored in the bank’s safe. As per 

the bank's management-approved protocol, only the cashier and the bank manager had 

authorization and access to the safe. 

 

ABC Bank had a Money Insurance policy in place with LKY Insurance Company Limited for 

the period April 1, 2023, to March 31, 2024, with the premium paid on March 31, 2023. The 

policy provided a limit of N20,000,000 for cash in the safe and N10,000,000 for cash in transit, 

with an annual aggregate limit of N15,000,000 for transit. 
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On March 30, 2024, four armed men invaded the bank, overpowered the guards on duty, broke 

into the safe, and stole the cash stored there. After the incident, the police forensic department 

reviewed the video footage and discovered that the weapons used by the perpetrators to 

intimidate the guards were toy guns. 

 

The policy terms and conditions were standard, including an extension to cover incidents 

involving threats. 

 

91. Assuming you are the loss adjuster appointed to handle the claim, and it is confirmed that 

N45,000,000 was stolen from the safe during the attack, what would be the insurer's 

liability? 

(a)  N5,000,000 (b)  N10,000,000 (c)  N15,000,000 (d) N20,000,000 

  

92. As the appointed loss adjuster, if it is confirmed that N45,000,000 was stolen from the 

safe during the attack and the policy excess is N2,500,000 or 10% of the claim amount 

(whichever is higher), what would be the insurer's liability? 

(a) N45,000,000 (b) N17,500,000 (c)  N15,000,000  (d) N10,000,000 

 

93. As the appointed loss adjuster, if it is confirmed that N45,000,000 was stolen from the 

safe during the attack, and the policy excess is N2,500,000 or 10% of the claim amount 

(whichever is higher), but video footage and subsequent police arrests reveal that a bank 

staff member was the leader of the four-man gang that attacked the bank, what would be 

the insurer's liability? 

(a)  N45,000,000 (b) N17,500,000 (c) N15,000,000    (d) None of the above  

 

94. As the appointed loss adjuster, if it is confirmed that N10,000,000 was stolen from the 

safe during the attack and the policy excess is N5,000,000 or 10% of the claim amount 

(whichever is higher), what would be the insurer's liability? 

(a)  N45,000,000 (b)  N17,500,000 (c)  N10,000,000     (d)    N5,000,000  

 

95. As the appointed loss adjuster, if it is confirmed that N15,000,000 was stolen from the 

safe during the attack, and the policy excess is N1,500,000 or 10% of the claim amount 

(whichever is higher), but the premium was unpaid at the time of the incident, what would 

be the insurer's liability? 

(a)  N55,000,000 (b)  N11,500,000 (c)   N15,000,000  (d) None of the above  

 

Ade has comprehensive motor insurance for his 2020 Toyota Highlander with TKY Insurance 

Company Limited, covering the period from January 1, 2024, to December 31, 2024, with a 

sum insured of N15,000,000. 

 

On April 20, 2024, while traveling from Ibadan to Lagos, a third-party truck coming from the 

opposite direction lost control due to brake failure, crossed the median, and crashed into Ade’s 

vehicle. Based on the police report, the truck driver was found liable for the damage to Ade’s 

car. The truck had a valid third-party motor insurance policy with a property damage limit of 

N10,000,000 at the time of the accident. The damage to Ade’s Toyota Highlander was deemed 

a constructive total loss.  
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96. How much can Ade recover from TKY Insurance Company Limited under his 

comprehensive insurance cover, given that the current market value of a 2010 Toyota 

Highlander is N17,500,000? 

(a) N17,500,000 (b)  N15,000,000 (c)  N5,000,000   (d)  None of the above 

 

97. How much can TKY Insurance Company Limited recover from the liable third party (the 

owner of the truck) by exercising its subrogation rights on behalf of Ade? 

(a) N20,500,000 (b)  N15,000,000 (c)  N5,000,000 (d) None of the above 

 

98. How much can TKY Insurance Company Limited recover from the insurer of the liable 

truck, based on the terms and conditions of the policy, assuming a 5% excess, while 

exercising its subrogation rights on behalf of Ade? 

 (a) N20,500,000 (b)  N15,000,000 (c)  N9,500,000 (d)   N5,000,000 

  

99. Assuming TKY Insurance Company Limited recovered a total of N20,000,000 for the 

damage, as presented by Ade's demand, from the liable third party (the owner of the 

truck) through exercising its subrogation rights on behalf of Ade, and considering that 

Ade has already been fully settled under the terms and conditions of his comprehensive 

insurance, how much will Ade's insurer retain from the N20,000,000 recovery? 

(a) N20,500,000 (b)  N15,000,000 (c)  N9,500,000 (d)  N5,000,000

  

100. Assuming TKY Insurance Company Limited recovered a total of N20,000,000 for the 

damage, as presented by Ade’s demand, from the liable third party (the owner of the 

truck) through exercising its subrogation rights on behalf of Ade, and since Ade has 

already been fully settled according to the terms and conditions of his comprehensive 

insurance, how much will Ade’s insurer release to him in addition to the initial payment 

from the N20,000,000 recovery? 

(a) N20,500,000 (b)  N15,000,000 (c)  N5,000,000   (d) None of the above  
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Chief Examiner’s Comment 

The content of the course was well covered, the questions were standard and the performance 

of the candidates was relatively above average. Approximately 67% of the candidates passed 

the course.   

 

Comments on overall performance: 

Overall performance was above average. 

 

Suggestion on improvement (if any) 

Candidates are advised to undertake more thorough studies and ensure they are well-prepared 

for the examinations. 

 

 

 

 

 

                                

PF02 – LOSS ADJUSTING PRACTICE (FOUNDATION) 

1 C 21 C 41 D 61 F 81 T 

2 BONUS  22 D 42 A 62 F 82 F 

3 C 23 C 43 C 63 F 83 F 

4 C 24 B 44 B 64 F 84 F 

5 B 25 C 45 A 65 F 85 F 

6 A 26 C 46 B 66 T 86 B 

7 C 27 A 47 D 67 F 87 C 

8 A 28 D 48 D 68 F 88 B 

9 C 29 C 49 D 69 T 89 B 

10 A 30 D 50 D 70 F 90 B 

11 D 31 A 51 D 71 F 91 D 

12 C 32 B 52 D 72 F 92 B 

13 C 33 D 53 A 73 F 93 D 

14 A 34 A 54 A 74 T 94 D 

15 A 35 B 55 D 75 F 95 D 

16 A 36 A 56 A 76 F 96 B 

17 B 37 B 57 D 77 F 97 B 

18 D 38 D 58 C 78 F 98 C 

19 A 39 B 59 C 79 F 99 B 

20 B 40 C 60 C 80 T 100 C 

 

 
 

 


